
Math 1030, HomeworK
Sect ions 6.3

For  each o f the
that the polyno
a. 2x2 + 1_3x
b.  7n2 -  2Tn

Instruct ions: Complete fol lowing problems. you may work alon
answers from a group ber, but be sure that you understand t
appear  on  exams.  you ay be asked to explain dr present the an
due a t  the  end o f  the ss period.

N a m e

,(EY

r  In a group. Do not just copy
ob lem.  S imi la r  ques t ions  w i l l
to the class. This assignment is

,  and then by grouping. Or state

a Zvn -e\) tt (tsnr.$ -- (grr',-\)(zn"+r\

= a (3 Zy) (v *-'l)

la-t + e;mrr ^J4t!/,/\lt,urt{

1..

l2o, t,z,oo, l,qor qrlq

Ez{, br2",B,ts, loiz
slb12gO1llbor ql{Cr

-r3bf 6rlo, l1zaptt,ts
lorlt

f.frrr 2,{213 tLA,1,2)

'oblems below, factor them by tr ia l  and
ia l  i s  p r ime.
ls  (zx+ 3)(x + s )r I  ( l n * l ) ( n - 4 )
s  ( a u r + t ) ( Z r ^ r - 5 )

1t4x3 -fitzxz - l l X- lS\ = 2r (
251Q2 + 1) + 14(x2 + r) (lrr)(br"l
L 6

-q) - t (gn-q\ = (Sx-\)tsr.t)

- l q 2 . -
=3{3r  tz ,3r  lH,  * t3

bo],7b, zq3

c.  4wz -  Bw
d. 6m2 - Sm
e. 'L'1,22 

+ 322
f. 5x2 - IIx
g. 6x2 + Zxy

2.  Which  method \tou l ike better? Why?

A\lsuse,vg

6/<- eI
l-:ol I

3. Factor completel,  by  any  method.
tixz - Z3x
10x2 - Bxy
4xty'  -  Bx2
15x2 - 4x +
30x *  22x2
6x2(x2 + I)
2724 + 4Zz2

Find the values of
a .  3 x 2 + c x -  S

lbr which the poly

*>-Pwnt 'tT,r!-r.L a'.< a 6(.

x+Ly)h- 21)

3- ?* * 9r- ts) = 2*14x (3r,-s)r aCr-Q
t *r\) r = -2x(Er-s)Ctrr3) -

1.5n6 + 7n3 2:, lre tr\ (6'62 tr- trtrg " (x'tr)[!x (zv-+)-z1zy-a1
z)(zr-+)3 x 2 '  +  L g x n = (r't,) (

4 z r  I |  zt?-t ,  ?,  t l l r

fr' (Qz'+ 8)(32'+ z\

h. (3,,)* d)&3* t)

i. (3rn* r)(rn* b)


